

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

**Regular
SEMESTER : I**

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|---|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 1 | 2 | FBMS25001 | ANJAL SHIBU KD REJI | AB | AB | AB | AB | AB | AB | 8 | AB | AB | AB | AB | AB | 9 | AB | AB | AB | | AB | 17 | 0 | | | F |
| 2 | 6 | FBMS25002 | BHAVANI MUTHU INDIRA | 22 | 18 | 19 | 19 | 19 | 19 | 18 | 19 | 27 | 19 | 15 | 21 | 16 | 15 | 12 | 12 | | 45 | 335 | 140 | 22.0 | 6.36 | B+ |
| 3 | 1 | FBMS25003 | ACHARY MITHUN MADHU SHEEJA | 26 | 28 | 23 | 27 | 22 | 8 | 16 | 15 | 27 | 25 | 18 | 24 | 18 | 15 | 13 | 15 | | 45 | 365 | 144 | 19.0 | | F |
| 4 | 61 | FBMS25004 | / AMBEKAR VEDANTIKA VILAS VAIBHAVI | 28 | 29 | 25 | 24 | 23 | 27 | 16 | 16 | 19 | 22 | 18 | 23 | 16 | 16 | 14 | 12 | | 46 | 374 | 157 | 22.0 | 7.14 | A |
| 5 | 62 | FBMS25005 | ANSARI ALIM SHARIF MUMTAZ | 21 | 19 | 20 | 18 | 19 | 18 | 17 | 19 | 30 | 18 | 16 | 16 | 17 | 22 | 13 | 6 | | 46 | 335 | 129 | 20.0 | | F |
| 6 | 3 | FBMS25006 | / ANSARI SHIFA PARVEEN NIZAM SAJIDA | 27 | 31 | 25 | 30 | 24 | 25 | 19 | 21 | 29 | 19 | 17 | 24 | 18 | 24 | 15 | 25 | | 47 | 423 | 184 | 22.0 | 8.36 | A+ |
| 7 | 63 | FBMS25007 | / ARUNTHATHIYAR NETHRA DASHRATH LAXMI | 24 | 25 | 22 | 21 | 19 | 27 | 18 | 18 | 30 | 20 | 17 | 26 | 8 | 17 | 13 | 19 | | 40 | 366 | 159 | 22.0 | 7.23 | A |
| 8 | 4 | FBMS25008 | BAMANIA PARTH MANOJ CHATURTHI | 24 | 20 | 20 | 6 | 22 | 18 | 18 | 15 | 14 | 18 | 17 | 18 | 17 | 12 | 16 | 12 | | 30 | 297 | 113 | 19.0 | | F |
| 9 | 64 | FBMS25009 | / BANDE NANDNI DATTU RADHIKA | 14 | 21 | 18 | 18 | 5 | 18 | 18 | 16 | 26 | 9 | 19 | 13 | 17 | 14 | 14 | 12 | | 42 | 294 | 94 | 16.0 | | F |
| 10 | 5 | FBMS25010 | BANE LAKSH SANDEEP SEJAL | 23 | 23 | 17 | 18 | 19 | 18 | 16 | 16 | 24 | 18 | 16 | 20 | 17 | 12 | 10 | 12 | | 30 | 309 | 127 | 22.0 | 5.77 | B |
| 11 | 65 | FBMS25011 | BANE VISHWANATH SATYAVAN SATYAWATI | AB | 21 | AB | 20 | AB | 18 | AB | 22 | AB | 24 | AB | 12 | AB | 12 | AB | 12 | | 35 | 176 | 16 | 2.0 | | F |
| 12 | 66 | FBMS25012 | / BHONDE PURVA ROHAN DIPTI | 25 | 34 | 18 | 28 | 20 | 18 | 17 | 21 | 29 | 27 | 17 | 21 | 8 | 15 | 15 | 15 | | 49 | 377 | 158 | 22.0 | 7.18 | A |
| 13 | 7 | FBMS25013 | CHAUDHARY PRATEEK PRAMOD BHARATI | 23 | 22 | 21 | 18 | 22 | 18 | 17 | 20 | 24 | 18 | 16 | 19 | 16 | 16 | 10 | 12 | | 45 | 337 | 143 | 22.0 | 6.50 | B+ |
| 14 | 67 | FBMS25014 | CHAUDHARY ROSHAN KUMAR VIDYANAND RUNA DEVI | 25 | 26 | 20 | 19 | 23 | 19 | 19 | 22 | 29 | 21 | 18 | 19 | 17 | 13 | 15 | 13 | | 46 | 364 | 155 | 22.0 | 7.05 | A |
| 15 | 8 | FBMS25015 | CHOUDHARY JUNAID SHAKIL AHMED SABIYA KHATUN | 23 | 18 | 21 | 18 | 18 | 9 | 19 | 15 | 21 | 18 | 16 | 14 | 16 | 12 | 12 | 6 | | 42 | 298 | 103 | 17.0 | | F |
| 16 | 68 | FBMS25016 | CHOUDHARY PREM UMESH RINKU | 25 | 23 | 21 | 18 | 17 | 9 | 17 | 19 | 26 | 23 | 17 | 21 | 17 | 17 | 16 | 12 | | 47 | 345 | 135 | 19.0 | | F |
| 17 | 9 | FBMS25017 | D ALMEDA AYAAN SURAJ FLAVIA | 23 | 18 | 12 | 7 | 19 | 4 | 17 | 14 | 14 | 8 | 18 | 12 | 17 | 12 | 13 | 5 | | AB | 213 | 55 | 9.0 | | F |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|-------------------------------------|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 18 | 125 | FBMS25018 | DANGLE SATYAM GANPAT NAKUSHA | 5 | 19 | 12 | 22 | 14 | 6 | 8 | 15 | 6 | 18 | 01 | 17 | 4 | 13 | 2 | 12 | | AB | 174 | 20 | 5.0 | | F |
| 19 | 69 | FBMS25019 | / DAVANE RUPIKA PRALHAD SUWARNA | 8 | 19 | 7 | 18 | 5 | 18 | 8 | 12 | 7 | 18 | 17 | 19 | 8 | 15 | 9 | 14 | | 35 | 237 | 56 | 10.0 | | F |
| 20 | 10 | FBMS25020 | GOPALE OMKAR SHYAM JYOTI | 23 | 27 | 18 | 20 | 23 | 18 | 18 | 20 | 24 | 27 | 17 | 18 | 18 | 17 | 10 | 14 | | 46 | 358 | 148 | 22.0 | 6.73 | B+ |
| 21 | 70 | FBMS25021 | / GUPTA MAHAK RAMESH SUDHA | 24 | 29 | 24 | 25 | 22 | 22 | 17 | 22 | 29 | 19 | 17 | 23 | 17 | 18 | 15 | 12 | | 42 | 380 | 164 | 22.0 | 7.45 | A |
| 22 | 11 | FBMS25022 | GUPTA SHIVANSH RAJENDRA ARCHANA | 5 | 18 | 5 | 3 | 4 | 8 | 17 | 13 | 7 | 8 | 03 | 18 | 18 | 12 | 4 | 5 | | AB | 148 | 28 | 4.0 | | F |
| 23 | 71 | FBMS25023 | JADHAV OMKAR GEETARAM ASHWINI | 23 | 18 | 21 | 18 | 21 | 9 | 17 | 12 | 18 | 18 | 16 | 12 | 16 | 12 | 12 | 5 | | 45 | 293 | 98 | 17.0 | | F |
| 24 | 12 | FBMS25024 | JADHAV SONAM GAJANAN UJWALA | 8 | 28 | 15 | 18 | 6 | 8 | 8 | 15 | 7 | 20 | 16 | 18 | 5 | 14 | 4 | 5 | | 35 | 230 | 50 | 9.0 | | F |
| 25 | 72 | FBMS25025 | JAIWAR RAVI GYANESHWAR BABY BHARTI | 21 | 19 | 21 | 18 | 21 | 18 | 18 | 15 | 22 | 20 | 16 | 19 | 16 | 16 | 13 | 12 | | 47 | 332 | 137 | 22.0 | 6.23 | B+ |
| 26 | 73 | FBMS25026 | / JANASKAR SHREYA VIVEK VINITA | 25 | 26 | 21 | 27 | 22 | 18 | 19 | 18 | 29 | 22 | 18 | 19 | 17 | 18 | 13 | 12 | | 45 | 369 | 156 | 22.0 | 7.09 | A |
| 27 | 13 | FBMS25027 | / JOGDAND PRANALI VINOD MANGAL | 8 | 26 | 12 | 20 | 9 | 18 | 9 | 19 | 9 | 23 | 04 | 22 | 5 | 15 | 12 | 12 | | 48 | 271 | 52 | 9.0 | | F |
| 28 | 74 | FBMS25028 | / KAMAT APARNA DILIP PRATIBHA | 24 | 31 | 23 | 34 | 24 | 22 | 19 | 22 | 29 | 31 | 19 | 24 | 17 | 16 | 17 | 23 | | 45 | 422 | 186 | 22.0 | 8.45 | A+ |
| 29 | 14 | FBMS25029 | KANOJIA GAURAV AJAYKUMAR AARATI | 23 | 31 | 21 | 18 | 20 | 9 | 18 | 17 | 27 | 20 | 16 | 13 | 17 | 13 | 12 | 12 | | 12 | 299 | 110 | 17.0 | | F |
| 30 | 75 | FBMS25030 | / KAPILA KRITIKA PUNAL KAVITA | 24 | 18 | 22 | 18 | 21 | 9 | 18 | 19 | 29 | 19 | 17 | 22 | 16 | 15 | 15 | 12 | | 48 | 342 | 130 | 19.0 | | F |
| 31 | 15 | FBMS25031 | / KAPURKAR TANIKSHA TANAJI VAISHALI | 23 | 24 | 24 | 25 | 22 | 22 | 18 | 20 | 24 | 26 | 16 | 24 | 16 | 14 | 13 | 15 | | 49 | 375 | 161 | 22.0 | 7.32 | A |
| 32 | 76 | FBMS25032 | KAZI AYAN ROUF NASREEN | 21 | 18 | 13 | 18 | 9 | 9 | 17 | 20 | 29 | 7 | 17 | 15 | 17 | 12 | 13 | 12 | | 46 | 293 | 99 | 16.0 | | F |
| 33 | 16 | FBMS25033 | / KHAIRWAR KHUSHI SUNIL BINDUDEV | 26 | 31 | 24 | 28 | 22 | 36 | 19 | 26 | 28 | 24 | 17 | 24 | 16 | 15 | 16 | 17 | | 42 | 414 | 176 | 22.0 | 8.00 | A+ |
| 34 | 77 | FBMS25034 | KHAN AADIL DILDAR KHATUNISSA | 22 | 20 | 4 | 8 | 20 | 9 | 18 | 19 | 8 | 9 | 17 | 17 | 18 | 14 | 5 | 12 | | AB | 220 | 62 | 9.0 | | F |
| 35 | 17 | FBMS25035 | / KHAN AYESHA MOHD ONAIS SABA | 23 | 29 | 24 | 26 | 20 | 18 | 18 | 19 | 24 | 19 | 17 | 19 | 17 | 16 | 11 | 15 | | 47 | 362 | 151 | 22.0 | 6.86 | B+ |
| 36 | 78 | FBMS25036 | KHAN FAIZ MERAJ AHMED HINA | 24 | 24 | 22 | 20 | 20 | 18 | 18 | 19 | 29 | 21 | 17 | 20 | 18 | 14 | 13 | 17 | | 46 | 360 | 155 | 22.0 | 7.05 | A |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade | | |
|---------|----------|-----------|---|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|----|-----|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | | IA | SEE |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | | | |
| 37 | 18 | FBMS25037 | KHAN MD FAISAL MOHD ASLAM SAJBUNNISA | 21 | 18 | 20 | 18 | 19 | 6 | 17 | 16 | 26 | 21 | 17 | 19 | 16 | 12 | 9 | 3 | | 30 | 288 | 107 | 17.0 | | F | | |
| 38 | 19 | FBMS25038 | KHAN MOH FIROZ MAKSOOD HASINA BANO | AB | AB | AB | AB | AB | 1 | AB | 16 | AB | 2 | AB | 13 | AB | 4 | AB | 2 | | AB | 38 | 0 | | | F | | |
| 39 | 79 | FBMS25039 | KHAN MOHAMAAD ARMAAN GULAZR AHMED SHAFIYA | 23 | 19 | 21 | 18 | 6 | 6 | 16 | 21 | 29 | 18 | 16 | 12 | 16 | 16 | 13 | 13 | | 25 | 288 | 116 | 19.0 | | F | | |
| 40 | 20 | FBMS25040 | KHAN MOHAMMAD HARIS NASRUDDIN RIZWANA | 3 | 18 | 12 | 7 | AB | 8 | AB | 13 | AB | 3 | 00 | 13 | 4 | 4 | 12 | 4 | | AB | 101 | 0 | | | F | | |
| 41 | 80 | FBMS25041 | KHAN ZAID DANISH FATIMA | 23 | 26 | 21 | 18 | 22 | 18 | 17 | 19 | 18 | 22 | 17 | 14 | 16 | 17 | 14 | 12 | | 25 | 319 | 130 | 22.0 | 5.91 | B | | |
| 42 | 21 | FBMS25042 | KHELGE ANIKET SIDDHARTH NEELUKA | 23 | 30 | 21 | 19 | 21 | 19 | 19 | 19 | 27 | 25 | 15 | 20 | 18 | 17 | 12 | 12 | | AB | 317 | 131 | 20.0 | | F | | |
| 43 | 81 | FBMS25043 | KUJUR UJJWAL JAGESHWAR SABEENA | 27 | 18 | 20 | 8 | 18 | 18 | 18 | 15 | 22 | 18 | 11 | 20 | 17 | 12 | 16 | 12 | | 49 | 319 | 120 | 19.0 | | F | | |
| 44 | 22 | FBMS25044 | LONDHE KUNAL SHIVAJI UJWALA | 3 | 0 | 3 | 1 | AB | 0 | 4 | 12 | 7 | 5 | 01 | 00 | AB | 12 | AB | 2 | | AB | 50 | 0 | | | F | | |
| 45 | 82 | FBMS25045 | MADHIYA ZAKWAN JAVED MASOOMA | 25 | 23 | 25 | 18 | 18 | 18 | 19 | 23 | 28 | 25 | 18 | 20 | 17 | 16 | 14 | 16 | | 35 | 361 | 155 | 22.0 | 7.05 | A | | |
| 46 | 23 | FBMS25046 | MEMAN MUHAMMAD HUSSAIN SALIM ZUBEDA | 20 | 26 | 4 | 21 | 21 | 24 | 8 | 13 | 7 | 27 | 4 | 23 | 8 | 16 | 5 | 12 | | 48 | 287 | 78 | 12.0 | | F | | |
| 47 | 83 | FBMS25047 | MISHRA ADARSH KUMAR MANIKANT SITA DEVI | 24 | 4 | 20 | 5 | 20 | 6 | 16 | 13 | 25 | 18 | 17 | 12 | 17 | 12 | 13 | 4 | | 40 | 266 | 72 | 11.0 | | F | | |
| 48 | 24 | FBMS25048 | NAGA DREAM DATTARAM ALKA | 24 | 28 | 22 | 20 | 23 | 19 | 17 | 18 | 27 | 26 | 16 | 20 | 8 | 16 | 14 | 12 | | 42 | 355 | 151 | 22.0 | 6.86 | B+ | | |
| 49 | 84 | FBMS25049 | / NAVLE PRENIKA RAJESH PUSHPA | 29 | 18 | 14 | 18 | 20 | 18 | 18 | 17 | 28 | 18 | 19 | 15 | 17 | 13 | 13 | 6 | | 49 | 330 | 133 | 20.0 | | F | | |
| 50 | 85 | FBMS25051 | PATEL AAKIB ALTAF SAFIYA | 24 | 21 | 25 | 18 | 23 | 22 | 17 | 21 | 28 | 19 | 18 | 16 | 18 | 12 | 14 | 5 | | 35 | 336 | 141 | 20.0 | | F | | |
| 51 | 86 | FBMS25053 | PATEL MUHAMMAD ZAID OMEIR SADAF | 23 | 18 | 25 | 18 | 22 | 18 | 19 | 14 | 25 | 18 | 17 | 15 | 18 | 16 | 14 | 12 | | 48 | 340 | 138 | 22.0 | 6.27 | B+ | | |
| 52 | 87 | FBMS25055 | PATEL VEDAANT NISHANT SUJATA | 21 | 21 | 20 | AB | 20 | 18 | 17 | 16 | 7 | 18 | 17 | 23 | 18 | 16 | 16 | 14 | | 40 | 302 | 111 | 16.0 | | F | | |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|---|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 53 | 28 | FBMS25056 | PATHAN FARHAN KHAN IMRAN KHAN RUBINA | 27 | 18 | 21 | 6 | 19 | 4 | 9 | 17 | 23 | 6 | 16 | 12 | 17 | 12 | 14 | 12 | | 49 | 282 | 85 | 13.0 | | F |
| 54 | 148 | FBMS25057 | PAWASKAR NEIL SHASHIKANT SANTOSHI | 13 | 2 | 16 | 8 | AB | 18 | 17 | 18 | 24 | 3 | 16 | 18 | 18 | 12 | 14 | 3 | | AB | 200 | 44 | 6.0 | | F |
| 55 | 88 | FBMS25058 | / QURESHI ALMAS FATIMA ABDUL RAHIM SHEZADI | 23 | 26 | 24 | 18 | 23 | 25 | 18 | 12 | 20 | 18 | 17 | 15 | 17 | 18 | 14 | 15 | | 46 | 349 | 151 | 22.0 | 6.86 | B+ |
| 56 | 29 | FBMS25059 | QURESHI MOHD ALFES MOHD GOUS NASREEN | 22 | 18 | 20 | 18 | 22 | 21 | 18 | 18 | 6 | 4 | 12 | 12 | 16 | 5 | 8 | 5 | | 47 | 272 | 92 | 15.0 | | F |
| 57 | 89 | FBMS25060 | QURESHI SUBHAN ISHTBYAQ SHAGUFTA | 22 | 23 | 24 | 26 | 24 | 33 | 18 | 22 | 25 | 19 | 16 | 25 | 17 | 16 | 14 | 12 | | 48 | 384 | 164 | 22.0 | 7.45 | A |
| 58 | 30 | FBMS25061 | RAI DIPESH KAILASH SAROJ | 26 | 26 | 25 | 23 | 22 | 19 | 18 | 16 | 27 | 25 | 18 | 20 | 16 | 18 | 14 | 12 | | 49 | 374 | 152 | 22.0 | 6.91 | B+ |
| 59 | 90 | FBMS25062 | RAVARIYA SMEET ARVIND KALPANA | 26 | 21 | 19 | 18 | 19 | 18 | 17 | 15 | 30 | 18 | 15 | 26 | 16 | 24 | 15 | 2 | | 48 | 347 | 136 | 20.0 | | F |
| 60 | 31 | FBMS25063 | RESHAMWALA MOHAMMAD TALHA MOHAMMAD ASLAM ARSHIA | 21 | 18 | 21 | 6 | 19 | 18 | 18 | 14 | 22 | 9 | 18 | 16 | 17 | 16 | 13 | 12 | | 49 | 307 | 99 | 16.0 | | F |
| 61 | 91 | FBMS25064 | ROUNDHAL AYUSH KHANDU MANISHA | 24 | 21 | 22 | 18 | 18 | 18 | 16 | 14 | 20 | 20 | 17 | 22 | 16 | 18 | 13 | 12 | | 45 | 334 | 137 | 22.0 | 6.23 | B+ |
| 62 | 32 | FBMS25065 | SAIYED AIMAN NAWAZ FARZANA | 23 | 22 | 20 | 18 | 17 | 8 | 8 | 12 | 7 | 4 | 11 | 18 | 8 | 12 | 14 | 6 | | 47 | 255 | 84 | 14.0 | | F |
| 63 | 92 | FBMS25066 | SATKAR SAGAR RAJENDRA JAYSHREE | 6 | 1 | 5 | 18 | 8 | 2 | 18 | 12 | 6 | 3 | 1 | 12 | 17 | 12 | 4 | 4 | | AB | 129 | 26 | 4.0 | | F |
| 64 | 33 | FBMS25067 | / SAWANT ISHIKA BIPIN ANJALI | 25 | 20 | 25 | 31 | 19 | 26 | 16 | 20 | 25 | 20 | 16 | 22 | 17 | 16 | 13 | 20 | | 49 | 380 | 167 | 22.0 | 7.59 | A |
| 65 | 93 | FBMS25068 | SHAH UMAIR AHMED SHAKIR ALI AFSANA KHATOON | 30 | 29 | 21 | 29 | 21 | 35 | 19 | 20 | 24 | 30 | 18 | 23 | 17 | 18 | 15 | 15 | | 49 | 413 | 177 | 22.0 | 8.05 | A+ |
| 66 | 34 | FBMS25069 | SHAIKH ABUZAR MOHAMMED JILANI JILANI BANO | 24 | 18 | 20 | 6 | 20 | 0 | 17 | 15 | 24 | 1 | 18 | 22 | 17 | 12 | 12 | 12 | | 40 | 278 | 88 | 13.0 | | F |
| 67 | 94 | FBMS25070 | / SHAIKH AITAL IRSHAD REHANA | 23 | 18 | 22 | 18 | 23 | 18 | 8 | 12 | 19 | 2 | 16 | 14 | 8 | 12 | 15 | 12 | | 40 | 280 | 103 | 19.0 | | F |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade | | |
|---------|----------|-----------|---|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|----|-----|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | | IA | SEE |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | | | |
| 68 | 35 | FBMS25071 | / SHAIKH AYESHA ISMAIL KAMRUNISSA | 24 | 18 | 22 | 22 | 22 | 28 | 18 | 15 | 24 | 18 | 16 | 18 | 16 | 15 | 13 | 14 | | 43 | 348 | 147 | 22.0 | 6.68 | B+ | | |
| 69 | 161 | FBMS25072 | SHAIKH FAIZAN YUNUS NILOFAR | 20 | 2 | 16 | 7 | AB | 2 | 18 | 12 | 29 | 2 | 16 | 12 | 18 | 12 | 14 | 12 | | 45 | 237 | 70 | 10.0 | | F | | |
| 70 | 95 | FBMS25073 | / SHAIKH GULNAZ SHAHZAD ALI MEHRUNISSA | 23 | 18 | 20 | 18 | 20 | 18 | 18 | 14 | 20 | 18 | 17 | 17 | 17 | 16 | 14 | 12 | | 43 | 325 | 132 | 22.0 | 6.00 | B+ | | |
| 71 | 36 | FBMS25074 | / SHAIKH MAHEK SALIM YASMIN | 25 | 18 | 15 | 18 | 24 | 18 | 8 | 12 | 15 | 18 | 16 | 16 | 16 | 16 | 12 | 5 | | 40 | 292 | 114 | 20.0 | | F | | |
| 72 | 96 | FBMS25075 | / SHAIKH MANTASHA RIYAZ AHMED RIZWANA | 24 | 28 | 20 | 26 | 21 | 18 | 8 | 16 | 27 | 21 | 16 | 24 | 8 | 16 | 15 | 15 | | 45 | 348 | 146 | 22.0 | 6.64 | B+ | | |
| 73 | 37 | FBMS25076 | SHAIKH MOHAMMED ALAUF FAIZ AHMED AFSAR SULTANA | 5 | 19 | 21 | 21 | 20 | 8 | 8 | 20 | 21 | 18 | 4 | 16 | 8 | 12 | 12 | | AB | 225 | 61 | 12.0 | | F | | | |
| 74 | 97 | FBMS25077 | / SHAIKH MYSHA ABDUL KADAR ROSHAN | 22 | 18 | 20 | 18 | 18 | 18 | 17 | 17 | 26 | 19 | 16 | 19 | 18 | 13 | 15 | 12 | | 47 | 333 | 137 | 22.0 | 6.23 | B+ | | |
| 75 | 38 | FBMS25078 | / SHAIKH SAHREEN BANO RASHID ALI FATIMA PARVEEN | 22 | 18 | 20 | 7 | 17 | 18 | 16 | 15 | 24 | 24 | 16 | 12 | 18 | 12 | 12 | 4 | | 45 | 300 | 108 | 17.0 | | F | | |
| 76 | 98 | FBMS25079 | SHAIKH USMAN MOHAMMED SHABANA | 4 | 18 | 6 | 18 | 11 | 8 | 8 | 12 | 6 | 18 | 5 | 12 | 8 | 12 | 4 | 4 | | AB | 154 | 16 | 4.0 | | F | | |
| 77 | 39 | FBMS25080 | SHARMA ANSH SHAILENDRA RENU | 22 | 3 | 17 | 2 | 18 | 5 | 17 | 6 | 23 | 4 | 17 | 12 | 17 | 5 | 8 | 6 | | 43 | 225 | 30 | 4.0 | | F | | |
| 78 | 99 | FBMS25081 | / SHARMA KANGAN AJAY NEETU | 23 | 18 | 23 | 18 | 20 | 18 | 17 | 19 | 28 | 1 | 16 | 19 | 16 | 12 | 11 | 15 | | 46 | 320 | 119 | 19.0 | | F | | |
| 79 | 40 | FBMS25082 | / SHARMA KINJAL RAJU BABETA | 24 | 28 | 23 | 18 | 22 | 18 | 19 | 12 | 23 | 19 | 18 | 23 | 16 | 16 | 15 | 14 | | 45 | 353 | 147 | 22.0 | 6.68 | B+ | | |
| 80 | 100 | FBMS25083 | / SHARMA MUSKAN SURENDRA SADHANA | 22 | 30 | 22 | 21 | 21 | 8 | 17 | 17 | 20 | 30 | 17 | 13 | 8 | 16 | 14 | 5 | | 46 | 327 | 116 | 17.0 | | F | | |
| 81 | 101 | FBMS25084 | / SIDDIQUE ALFIYA YUNUS ALIYA | 25 | 27 | 25 | 30 | 20 | 22 | 18 | 21 | 20 | 21 | 16 | 24 | 18 | 18 | 14 | 23 | | 45 | 387 | 164 | 22.0 | 7.45 | A | | |
| 82 | 42 | FBMS25085 | / SINGH INDIRA GANESH YAMKUMARI | 22 | 18 | 19 | 18 | 22 | 18 | 16 | 14 | 24 | 18 | 16 | 22 | 17 | 15 | 13 | 12 | | 42 | 329 | 134 | 22.0 | 6.09 | B+ | | |
| 83 | 102 | FBMS25086 | SINGH KARTHIK AJAY PINKY | 6 | 18 | 8 | 18 | 7 | 9 | 8 | 18 | 6 | 8 | 4 | 15 | 8 | 18 | 4 | 14 | | AB | 169 | 20 | 4.0 | | F | | |
| 84 | 43 | FBMS25087 | / SINGH SHIVANI KAUSHAL BABITA | 25 | 31 | 22 | 37 | 24 | 22 | 16 | 20 | 28 | 28 | 17 | 24 | 17 | 16 | 14 | 21 | | 49 | 411 | 177 | 22.0 | 8.05 | A+ | | |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

SEMESTER : I

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade | | |
|---------|----------|-----------|---|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|----|-----|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | | IA | SEE |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | | | |
| 85 | 103 | FBMS25088 | SINGH SURAJ SURESH MANJU | 23 | 18 | 20 | 18 | 21 | 6 | 16 | 19 | 20 | 18 | 17 | 18 | 17 | 18 | 12 | 12 | | AB | 273 | 101 | 17.0 | | F | | |
| 86 | 104 | FBMS25089 | / UDAIYAR VINITHA JOTHILINGAM DHANABAKIYAM | 27 | 19 | 24 | 18 | 20 | 22 | 18 | 18 | 29 | 10 | 17 | 21 | 17 | 12 | 13 | 18 | | 45 | 348 | 135 | 19.0 | | F | | |
| 87 | 45 | FBMS25090 | / VINCENT RAYHAN THOMAS RENY | 25 | 26 | 21 | 18 | 19 | 18 | 18 | 12 | 26 | 26 | 17 | 21 | 17 | 16 | 15 | 12 | | 47 | 354 | 143 | 22.0 | 6.50 | B+ | | |
| 88 | 105 | FBMS25091 | VISHWAKARMA ANKIT KISHANKANT SUMAN | 23 | 24 | 23 | 24 | 21 | 18 | 9 | 14 | 29 | 22 | 17 | 23 | 18 | 16 | 14 | 12 | | 47 | 354 | 148 | 22.0 | 6.73 | B+ | | |
| 89 | 46 | FBMS25092 | / WILLIAM RAPHAELA ANSELAM CHARLOTTE | 25 | 27 | 18 | 19 | 8 | 18 | 17 | 19 | 24 | 22 | 17 | 15 | 17 | 18 | 13 | 14 | | 47 | 338 | 130 | 19.0 | | F | | |
| 90 | 106 | FBMS25093 | YADAV DHEERAJ GANESH SARITA | 23 | 26 | 23 | 24 | 22 | 22 | 8 | 15 | 22 | 26 | 17 | 22 | 17 | 17 | 12 | 14 | | 40 | 350 | 147 | 22.0 | 6.68 | B+ | | |
| 91 | 47 | FBMS25094 | YADAV PRADEEP RAMESHWAR CHANDWA DEVI | 22 | 18 | 21 | 18 | 24 | 18 | 4 | 12 | 24 | 22 | 16 | 21 | 17 | 18 | 12 | 12 | | 40 | 319 | 127 | 20.0 | | F | | |
| 92 | 107 | FBMS25095 | / ZANKAR SANJANA ROHIT LAXMI | 24 | 18 | 19 | 19 | 22 | 8 | 17 | 18 | 22 | 18 | 17 | 21 | 18 | 15 | 14 | 12 | | 43 | 325 | 122 | 19.0 | | F | | |
| 93 | 41 | FBMS25096 | / SHIKHA RUDRAKUMAR USHA | 22 | 8 | 15 | 21 | 18 | 8 | 17 | 17 | 22 | 18 | 18 | 24 | 16 | 18 | 14 | 12 | | 48 | 316 | 103 | 16.0 | | F | | |
| 94 | 44 | FBMS25097 | / SUSHMA S KUPPUSAMY AMBIGA | 28 | 31 | 23 | 23 | 23 | 18 | 17 | 15 | 29 | 21 | 18 | 21 | 17 | 24 | 16 | 18 | | 48 | 390 | 163 | 22.0 | 7.41 | A | | |
| 95 | 144 | FBMS25119 | PARMAR KARAN SURESH TINKY | 12 | 20 | 12 | 18 | 14 | 7 | 16 | 12 | 24 | 18 | 9 | 17 | 10 | 18 | 8 | 12 | | AB | 227 | 84 | 17.0 | | F | | |
| 96 | 149 | FBMS25123 | / POMBALE ISHWARI PARMESHWAR SANGEETA | 20 | 22 | 12 | 18 | 14 | 9 | 16 | 12 | 21 | 18 | 11 | 15 | 11 | 12 | 8 | 12 | | 48 | 279 | 103 | 19.0 | | F | | |
| 97 | 121 | FBMS25149 | / BHOOMI RAJ SAPNA | 19 | 18 | 12 | 18 | 14 | 18 | 16 | 17 | 23 | 18 | 10 | 18 | 10 | 12 | 8 | 12 | | AB | 243 | 93 | 20.0 | | F | | |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

SEMESTER : I

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Principles of Marketing (Marketing) | | Introduction to Financial Analysis | | Mathematical and Statistical | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade | | | | |
|---------|----------|-----------|-----------------------------------|----------------------------|-------|-------------------------------------|-------|------------------------------------|-------|------------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|-----|------|------|-----|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | | IA | SEE | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | | | | IA | SEE |
| 98 | 25 | FBMS25050 | PARMAR PUNEET SANJAY RENUKABEN | 26 | 8 | 20 | 18 | 20 | 27 | 19 | 28 | 27 | 18 | 19 | 16 | 17 | 17 | 14 | 12 | | 40 | | | | | 346 | 135 | 19.0 | | F |
| 99 | 26 | FBMS25052 | / PATEL KINJAL DEEPAK HBENA | 27 | 19 | 22 | 18 | 23 | 28 | 18 | 16 | 27 | 23 | 17 | 24 | 17 | 13 | 13 | 12 | | 46 | | | | | 363 | 154 | 22.0 | 7.00 | A |
| 100 | 27 | FBMS25054 | / PATEL SUCHI PRADEEP RASHMI | 28 | 18 | 21 | 18 | 21 | 27 | 19 | 29 | 27 | 23 | 18 | 21 | 17 | 15 | 17 | 18 | | 49 | | | | | 386 | 164 | 22.0 | 7.45 | A |

COSMOPOLITAN'S
**VAI IA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular
SEMESTER : I

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Introduction to Financial Management | | Fundamentals of Marketing | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade | | |
|---------|----------|-----------|---|----------------------------|-------|--------------------------------------|-------|---------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|----|-----|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | | IA | SEE |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | | | |
| 101 | 122 | FBMS25098 | BUPUR YASH BASURAJ SHASHIKALA | 23 | 22 | 20 | 29 | 25 | 29 | 17 | 21 | 25 | 18 | 16 | 17 | 16 | 16 | 13 | 12 | | AB | 319 | 138 | 20.0 | | F | | |
| 102 | 123 | FBMS25099 | CHHAPDA KUNDAN MAHESH RAMILA | 23 | 22 | 21 | 18 | 24 | 26 | 9 | 20 | 30 | 18 | 16 | 25 | 17 | 15 | 14 | 12 | | 48 | 358 | 152 | 22.0 | 6.91 | B+ | | |
| 103 | 124 | FBMS25100 | CHHARI VINAYAK LAKHAN NEELAM | 20 | 18 | 7 | 18 | 8 | 21 | 17 | 12 | 7 | 18 | 4 | 12 | 8 | 15 | 3 | 5 | | AB | 193 | 35 | 7.0 | | F | | |
| 104 | 126 | FBMS25101 | / DEVENDRA PRIYADARSHNI VELMURGAN PREMA | 4 | 19 | 18 | 18 | 22 | 23 | 8 | 15 | 6 | 8 | 4 | 12 | 8 | 15 | 12 | 6 | | 45 | 243 | 69 | 12.0 | | F | | |
| 105 | 127 | FBMS25102 | DEVENDRA VIMAL MOHAN VENNILA | 22 | 19 | 20 | 18 | 24 | 18 | 18 | 14 | 29 | 18 | 17 | 20 | 12 | 13 | 14 | 6 | | 30 | 312 | 123 | 20.0 | | F | | |
| 106 | 128 | FBMS25103 | DHANGAR BHEEM SHABANNA SANAMMA | 22 | 27 | 15 | 9 | 24 | 28 | 19 | 19 | 29 | 18 | 16 | 12 | 4 | 13 | 13 | 4 | | 31 | 303 | 105 | 15.0 | | F | | |
| 107 | 129 | FBMS25104 | DHANGAR BHIMASHANKAR BHIMRAO ANITA | 24 | 20 | 21 | 27 | 24 | 24 | 19 | 20 | 29 | 19 | 16 | 20 | 18 | 12 | 13 | 12 | | 29 | 347 | 149 | 22.0 | 6.77 | B+ | | |
| 108 | 130 | FBMS25105 | DHAWSE SAGAR RAHUL RITU | AB | 8 | AB | 18 | 6 | 18 | 18 | 12 | 6 | 18 | 17 | 00 | 15 | 12 | 8 | 4 | | 42 | 202 | 42 | 6.0 | | F | | |
| 109 | 131 | FBMS25106 | DUKLAN REHAN ROSHAN RITA | 7 | 24 | 21 | 19 | 24 | 28 | 8 | 20 | 29 | 18 | 17 | 18 | 9 | 17 | 8 | 6 | | 44 | 317 | 113 | 17.0 | | F | | |
| 110 | 133 | FBMS25108 | / GUPTA SHIKHA VIMAL PINKY | 23 | 22 | 19 | 23 | 25 | 25 | 14 | 20 | 26 | 18 | 17 | 22 | 17 | 14 | 14 | 12 | | 35 | 346 | 148 | 22.0 | 6.73 | B+ | | |
| 111 | 134 | FBMS25109 | GUPTA SHIVSAGAR RAMESH GUDIYA | 19 | 8 | 4 | 7 | 26 | 20 | 15 | 12 | 5 | 9 | 10 | 12 | 17 | 12 | 12 | 5 | | 30 | 223 | 65 | 11.0 | | F | | |
| 112 | 136 | FBMS25111 | / KADIWALA RUHI FATEMA ZULFIKAR ALI HABIBA | 23 | 31 | 20 | 28 | 24 | 32 | 18 | 21 | 29 | 26 | 17 | 22 | 16 | 15 | 14 | 15 | | 47 | 398 | 171 | 22.0 | 7.77 | A | | |
| 113 | 137 | FBMS25112 | KHARVI PUNIT DUGGAPPA SHAMBHAVI | 24 | 30 | 20 | AB | 25 | 29 | 19 | 21 | 29 | 21 | 16 | 24 | 16 | 18 | 11 | 16 | | 45 | 364 | 149 | 19.0 | | F | | |
| 114 | 138 | FBMS25113 | LOKHANDE ROHAN DNYANESHWAR RESHMA | 23 | 18 | 4 | 18 | 21 | 18 | 18 | 6 | 5 | 18 | 16 | 12 | 16 | 13 | 12 | 3 | | 35 | 256 | 70 | 12.0 | | F | | |
| 115 | 140 | FBMS25115 | MORE BALAJI SHRIRAM SANGEETA | AB | 32 | AB | 18 | AB | 31 | AB | 13 | AB | 18 | 8 | 15 | AB | 12 | AB | 12 | | AB | 159 | 8 | 2.0 | | F | | |
| 116 | 141 | FBMS25116 | NAIKAWADI VIGNESH TANAJI DEEPALI | 24 | 18 | 21 | 19 | 24 | 20 | 19 | 16 | 22 | 18 | 17 | 18 | 18 | 12 | 12 | 5 | | 46 | 329 | 132 | 20.0 | | F | | |
| 117 | 143 | FBMS25118 | / PANDIT RINKU KUMARI TUPLAL CHAMELI | 21 | 18 | 18 | 18 | 24 | 19 | 19 | 14 | 26 | 18 | 17 | 15 | 17 | 15 | 14 | 12 | | 35 | 320 | 131 | 22.0 | 5.95 | B | | |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

**Regular
SEMESTER : I**

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Introduction to Financial Management | | Fundamentals of Marketing | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|---|----------------------------|-------|--------------------------------------|-------|---------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 118 | 145 | FBMS25120 | PASHTE ATHARVA VIJAY VAISHNAVI | 21 | 18 | 21 | 18 | 25 | 26 | 19 | 16 | 29 | 18 | 17 | 20 | 16 | 18 | 14 | 12 | | 49 | 357 | 148 | 22.0 | 6.73 | B+ |
| 119 | 146 | FBMS25121 | PATEL UMMED JAGARAM LEELA | 25 | 18 | 19 | 8 | 23 | 18 | 17 | 14 | 29 | 1 | 16 | 14 | 17 | 14 | 14 | 0 | | 45 | 292 | 95 | 14.0 | | F |
| 120 | 147 | FBMS25122 | PAWAR YASH GANPAT SHILPA | 22 | 18 | 18 | 18 | 24 | 27 | 17 | 17 | 29 | 20 | 17 | 18 | 17 | 14 | 13 | 12 | | 44 | 346 | 143 | 22.0 | 6.50 | B+ |
| 121 | 150 | FBMS25124 | / QURESHI HUMERA MOHD ILYAS HUMA BI | 27 | 26 | 20 | 18 | 24 | 28 | 19 | 12 | 28 | 22 | 19 | 21 | 17 | 17 | 15 | 17 | | 47 | 377 | 161 | 22.0 | 7.32 | A |
| 122 | 151 | FBMS25125 | RANA VINAY RAJKUMAR MANJUDEVI | 24 | 28 | 20 | AB | 24 | 23 | 19 | AB | 26 | 18 | 15 | 26 | 17 | 25 | 13 | 12 | | 40 | 330 | 124 | 17.0 | | F |
| 123 | 152 | FBMS25126 | / RATHOD ASHWINI BHARAT JASUBEN | 25 | 36 | 21 | 26 | 24 | 33 | 19 | 18 | 28 | 33 | 17 | 25 | 15 | 16 | 14 | 12 | | 46 | 411 | 179 | 22.0 | 8.14 | A+ |
| 124 | 153 | FBMS25127 | / RATHOD PREETI SOMNATH RENUKA | 26 | 36 | 21 | 25 | 25 | 29 | 19 | 23 | 28 | 26 | 18 | 25 | 17 | 18 | 15 | 12 | | 47 | 415 | 182 | 22.0 | 8.27 | A+ |
| 125 | 158 | FBMS25132 | SAWANT MANTHAN JITENDRA JANVI | 24 | 25 | 21 | 18 | 25 | 22 | 18 | 12 | 21 | 18 | 16 | 17 | 17 | 17 | 13 | 12 | | 48 | 344 | 144 | 22.0 | 6.55 | B+ |
| 126 | 159 | FBMS25133 | SHAIKH AAMIR ALAM FAKHRE ALAM NAJUKBANO | 23 | 29 | 23 | 26 | 27 | 25 | 17 | 20 | 30 | 25 | 17 | 25 | 16 | 18 | 13 | 15 | | 46 | 398 | 169 | 22.0 | 7.68 | A |
| 127 | 160 | FBMS25134 | SHAIKH ABDUL SAMAD SAMEER SHIREEN | 23 | 27 | 21 | 26 | 24 | 32 | 18 | 15 | 29 | 20 | 17 | 26 | 18 | 17 | 14 | 14 | | 45 | 388 | 169 | 22.0 | 7.68 | A |
| 128 | 176 | FBMS25135 | / SHAIKH IQRA HABIB AHMED RESHMA | 22 | 18 | 20 | 18 | 24 | 18 | 19 | 18 | 23 | 9 | 19 | 16 | 8 | 14 | 14 | 12 | | 45 | 317 | 118 | 19.0 | | F |
| 129 | 162 | FBMS25136 | SHAIKH KAIF ASHFAQ RESHMA | 22 | 22 | 19 | 18 | 20 | 27 | 19 | 12 | 15 | 18 | 16 | 22 | 8 | 14 | 11 | 12 | | 45 | 320 | 129 | 22.0 | 5.86 | B |
| 130 | 163 | FBMS25137 | / SHAIKH MAHEK BASHIR TABASSUM | 27 | 27 | 23 | 26 | 25 | 29 | 19 | 22 | 30 | 32 | 18 | 14 | 16 | 17 | 14 | 14 | | 48 | 401 | 174 | 22.0 | 7.91 | A |
| 131 | 165 | FBMS25139 | SHAIKH MOHAMMED TALHA MUNNA ZULEKHA | 26 | 18 | 24 | 18 | 25 | 18 | 19 | 15 | 29 | 5 | 17 | 12 | 17 | 17 | 14 | 5 | | AB | 279 | 94 | 15.0 | | F |
| 132 | 167 | FBMS25141 | / SHAIKH SHAADMA ABDUL RAZZAK SHABINA | 21 | 27 | 23 | 23 | 24 | 33 | 19 | 12 | 24 | 22 | 15 | 23 | 17 | 17 | 12 | 12 | | AB | 324 | 139 | 20.0 | | F |
| 133 | 168 | FBMS25142 | / SHAIKH ZAINAP ISMAIL SAEEDA | 30 | 35 | 24 | 31 | 24 | 32 | 19 | 23 | 29 | 32 | 19 | AB | 16 | AB | 19 | 13 | | 49 | 395 | 154 | 18.0 | | F |
| 134 | 171 | FBMS25144 | SINGH KRISH SATYAVEER MEENU | 21 | 9 | 1 | 18 | 15 | 18 | 17 | 15 | 24 | 4 | 5 | 07 | 18 | 12 | 13 | 2 | | AB | 199 | 40 | 7.0 | | F |
| 135 | 172 | FBMS25145 | SINHA RITHIK RAJESH SHILPA | 23 | 29 | 20 | 22 | 25 | 26 | 18 | 22 | 29 | 25 | 16 | 20 | 18 | 15 | 15 | 13 | | 46 | 382 | 164 | 22.0 | 7.45 | A |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
 SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Introduction to Financial Management | | Fundamentals of Marketing | | Business Economics - I (OE) | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|---|----------------------------|-------|--------------------------------------|-------|---------------------------|-------|-----------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 136 | 174 | FBMS25147 | VERMA SANDEEPKUMAR PRAMODKUMAR PHOOLMATI | 23 | 18 | 21 | 22 | 24 | 22 | 18 | 25 | 29 | 18 | 18 | 20 | 16 | 16 | 13 | 16 | | 48 | 369 | 157 | 22.0 | 7.14 | A |
| 137 | 175 | FBMS25148 | / WAGHELA KUNJAL KHUSHAL NIRMALA | 24 | 18 | 21 | 18 | 7 | 23 | 19 | 19 | 6 | 20 | 18 | 21 | 15 | 14 | 15 | 12 | | 42 | 312 | 105 | 16.0 | | F |

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
SEMESTER : I**

| Sr. No. | Roll No. | Seat No. | Name | Principles of Management-I | | Introduction to Financial Management | | Fundamentals of Marketing | | Mathematical and Statistical | | Information Technology in Business | | Business Communication-I | | Indian Knowledge System | | Environmental Management | | Co-curricular Course | | Total Marks | Sum CG | Credits Earned | SGPA | Grade |
|---------|----------|-----------|---|----------------------------|-------|--------------------------------------|-------|---------------------------|-------|------------------------------|-------|------------------------------------|-------|--------------------------|-------|-------------------------|-------|--------------------------|-------|----------------------|-------|-------------|--------|----------------|------|-------|
| | | | | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | IA | SEE | | | | | |
| | | | | 12/30 | 18/45 | 12/30 | 18/45 | 12/30 | 18/45 | 8/20 | 12/30 | 12/30 | 18/45 | 8/20 | 12/30 | 8/20 | 12/30 | 8/20 | 12/30 | 0/0 | 20/50 | | | | | |
| 138 | 132 | FBMS25107 | / GAUTAM SAMTA RISHIRAJ GEETA | 24 | 24 | 19 | 22 | 26 | 34 | 20 | 27 | 25 | 20 | 17 | 22 | 17 | 24 | 15 | 17 | | 48 | 401 | 172 | 22.0 | 7.82 | A |
| 139 | 135 | FBMS25110 | JHA AARUSH KUMAR AJIT SUDHA | 17 | AB | 21 | 7 | 25 | AB | 15 | 0 | 29 | AB | 15 | 00 | 4 | 12 | 13 | 4 | | AB | 162 | 0 | | | F |
| 140 | 139 | FBMS25114 | MISHRA DIVYANSH DHARMENDRA BANTI | 25 | 20 | 20 | 18 | 24 | 21 | 19 | 5 | 6 | 18 | 18 | 17 | 8 | 16 | 12 | 12 | | 45 | 304 | 109 | 17.0 | | F |
| 141 | 142 | FBMS25117 | NIRMAL SACHIN RAMCHANDRA REKHA | 24 | 36 | 20 | 24 | 26 | 31 | 19 | 28 | 29 | 27 | 18 | 23 | 8 | 16 | 14 | 12 | | 47 | 402 | 169 | 22.0 | 7.68 | A |
| 142 | 154 | FBMS25128 | RAVNANG SIDDHESH RAVINDRA ROHINI | 23 | 18 | 21 | 20 | 25 | 23 | 14 | 27 | 28 | 18 | 18 | 22 | 18 | 14 | 15 | 12 | | 47 | 363 | 152 | 22.0 | 6.91 | B+ |
| 143 | 155 | FBMS25129 | SALVE ASHISH POPAT SHOBHA | 19 | AB | 19 | 2 | 19 | AB | 8 | AB | 28 | AB | 16 | 00 | 5 | 1 | 12 | 2 | | AB | 131 | 0 | | | F |
| 144 | 156 | FBMS25130 | SANNAKKI MOHD HASAN JAHANGIR SULTANA | AB | 27 | AB | 18 | AB | AB | AB | 18 | AB | 4 | AB | 23 | AB | 17 | AB | 14 | | AB | 121 | 0 | | | F |
| 145 | 157 | FBMS25131 | SARGAR JAYESH SANJAY MANISHA | 20 | 9 | 20 | 18 | 24 | 5 | 12 | 3 | 29 | 18 | 16 | 12 | 8 | 14 | 12 | 12 | | AB | 232 | 64 | 12.0 | | F |
| 146 | 164 | FBMS25138 | SHAIKH MOHAMMED ANAS MOHD ALAM RAWSHANARA | 23 | 18 | 20 | 18 | 23 | 25 | 20 | 24 | 26 | 18 | 17 | 18 | 8 | 23 | 14 | 17 | | AB | 312 | 131 | 20.0 | | F |
| 147 | 166 | FBMS25140 | SHAIKH RAHIL ABDUL RAZZAK SHABINA | 23 | 26 | 18 | 23 | 24 | 30 | 17 | 23 | 26 | 26 | 16 | 20 | 17 | 15 | 14 | 4 | | AB | 322 | 129 | 18.0 | | F |
| 148 | 170 | FBMS25143 | SHARMA MANISH SHAMBHU PINKY | 23 | 22 | 20 | 18 | 26 | 19 | 17 | 26 | 29 | 19 | 16 | 23 | 8 | 14 | 14 | 13 | | 47 | 356 | 152 | 22.0 | 6.91 | B+ |
| 149 | 173 | FBMS25146 | / TRIPATHI PRINCY JITENDRA SONALI | 23 | 27 | 22 | 18 | 25 | 19 | 8 | 17 | 28 | 20 | 18 | 19 | 17 | 17 | 13 | 13 | | 47 | 351 | 145 | 22.0 | 6.59 | B+ |
| 150 | 169 | FBMS25150 | / SHALINI KASHAPPA ANJAMMA | 22 | 20 | 19 | 18 | 21 | 18 | 13 | 15 | 24 | 9 | 18 | 14 | 17 | 17 | 14 | 4 | | 48 | 311 | 105 | 17.0 | | F |

B. Banulekar

I/c PRINCIPAL
 Valia C. L. College of Commerce
 & Valia L. C. College of Arts
 Autonomous
 Gujarati Linguistic Minority Institution
 Andheri (West), Mumbai- 400053.